
Polynomials 
Ex. 2.1

MATH

cb
se

as
sis

tan
ce

.co
m



fx-2.tt① 4×2-3×-17

It is a polynomial in one variable x as

the exponents of the variable x are whole

members .

④ y2 -152
It is a polynomial in one variable y as

the exponent of the variable y is a
whole

member .

④ 3ft + tf
= 3T¥ # trz
It is not a polynomial in one variable as
the exponent of t i. e. ± is not a whole

number.

④ y -1kg

= y -12g
-1

It is not a polynomial in one variable as
the exponent of y i. e. C-1) is not a whole

number.

⑥ kᵗ° + y3-11-50
It is not a polynomial in one variable as

there are three variables i-e.sc
, y and t

.

210 2-1×2-1 a

coefficient of x2 is 1 .

④ 2-x2 te

coefficient of x2 isC-1) .
④ ¥ x2 -1 x

coefficient of x2 is ¥ .
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3. 2×35+7 is a binomial of degree 35 -

7- y
'-00 is a monomial of degree 100 -

410 5×3-14×2 -17k

Degree of polynomial is 3 as the highest power
of the variable x is 3.

④ 4 - y
2

Degree of polynomial is 2 as the highest power
of the variable y is 2 .

④ St - F-

Degree of polynomial is 1 as the highest power
of the variable t is 1 .

④ 3=3×1--3×0 [ : x° =D
Degree of polynomial is 0 as the highest power
of the variable x is 0 .

0€ Degree of the polynomial is 0 as it is a

constant polynomial.

5 ① K2 -13C

It is a quadratic polynomial as the degree is 2-
④ K -x 3

It is a cubic polynomial as the degree is 3-

④ yty 21-4
It is a quadratic polynomial as the degree is 2 .

④ 1 -1k

It is a linear polynomial as the degree ist .
① 3T

It is a linear polynomial as the degree is 1 .

④ r2
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It is a quadratic polynomial as the degree
is 2 .

④ 7×3

It is a cubic polynomial as the degree is 3.
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